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#EX/NHR <2000 $25 <5000 $25 2XREVE
2001-10000 $24 5001-10000 $24 il
10001-30000 $23 10001-50000 $23 (AARBRBEHE - BYSE—REAZETHKD)
30001 t $22 50001 t §$22
EX P <2000 $35 <5000 $35 FRHM <5000 $35 <5000 $35
(7kERIE ) 2001-5000 $34 5001-10000 $33 5001-10000 $34
5001-10000 $33 5000-10000 $34 10001-15000 $31 10001-15000 $33
—1 10001-30000 $32 10001-50000 $33 15001-20000 $29 15001-20000 $32
30001-50000 $30 50001-60000 $32 20001-50000 $27 20001-50000 $31
50001-60000 $28 60001-70000 $31 i 50001 t $26 50001 1 $30
60001-70000 $26 70001 1 $30 ] e FRIE ]
70001 1 $25 X X FMC(2RBEERIE) B K 800ml 26
EZX AR <2000 $45 <5000 $45 FMC(2RBEARM) INYFREK 500ml 27
(7k23E ) 2001-5000 $44 FMC(ZREERM) | hdFEEREK |  500ml 27
. 5001-10000 $43 5001-10000 $44 FMC(ZRBEERE) HRRAZR 700ml 27
4‘5&3 10001-30000 $41 10001-50000 $43 FMC(ZRBEERE) MEESH 700ml 27
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50001-60000 $37 60001-70000 $41
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10001-30000 $41 10001-30000 $43
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<25000 $5 <25000 $10
EPINE 25001-50000 $4 EPINE 25001-50000 $8
50001-75000 $3 50001-75000 $6
75001-100000 $2 75001-100000 $4
100001 1t $1 100001 1t $2




